gain-amp

gain-amp

gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

C00-130-EL OFF=-10.3'(43.2)

AL I L L B LA L B L LN B B
source .
gaussian 1 7
g
7 S
VAL N
/"‘0 \\\
// N
-60 -40 -20 0O 20 40 60

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

>>> scanl (offset arcmin) >>>

C00-130-EL OFF= -9.4' (43.2))

S I L N B DL LN N B B I B
source .
gaussian 2 7
/N
-60 -40 -20 O 20 40 60
<<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 0.9’
T T T T
gaussian 1,2
/N
-60 -40 -20 0 20 40 60

overlay scanl,2(offset arcmin)

gain-amp

gain-amp

gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

C00-175-EL OFF= -9.8" (44.2))

III IIIIIIIIIIIIIIIIIII
source .
gaussian 1 7
//‘\\‘
7
yd S
J %
P LY
g A Y
[ J \\
-40 20 0O 20 40 60

>>>

scanl (offset arcmin) >>>

C00-175-EL OFF= -8.9' (44.1)

S I L N I DL LN N B DL I B
source .
gaussian 2 7
/N
40 -20 0 20 40 60
<<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 0.9’
T T T T
gaussian 1,2
7
/ N\
\\\a_
40 -20 0 20 40 60

overlay scanl,2(offset arcmin)

(+30'/m) 25jul2016 10:03:00

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

C01-130-EL OFF=

1.0’ (43.3)

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

C01-175-EL OFF=

1.7 (43.8)

014 T T T T T 014 P11 T T
source ° source °
0.12 gaussian 1 7 0.12 gaussian 1 7
0.1 0.1
o
0.08 ~ £ 0.08
e h Y "'\
0.06 // N, £ 0.06 v \\
/ ‘ =) # ‘
0.04 y X 0.04 £ N
0.02 ya N 0.02 va \\
0 o \. 2l 0 o S|
60 -40 -20 0 20 40 60 60 -40 -20 0 20 40 60

>>> scanl (offset arcmin) >>>

C01-130-EL OFF=

3.8' (43.4)

>>> scanl (offset arcmin) >>>

CO01-175-EL OFF=

4.4 (43.2)

(+30'/m) 25jul2016 10:03:00

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06 10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

gain-amp

gain-amp

0.14 rrrtrrrrerrErrrTrTreTe 0.14 rrrtrrrrerrErrrTrTreTe
0.12 gau:soiggcg : ' 0.12 gau:soiggcg : '
0.1 o 0.1
0.08 £ 0.08
0.06 / ”\\ S 006 / ﬂ\\
0.04 // \\ Z 004 ,/ \\
0.02 ::. oy 0.02 Y /
0 ¢ 0 bmamet” &
60 -40 -20 0 20 40 60 60 -40 -20 0 20 40 60
<<< scan2 (offset arcmin) <<< <<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 2.8 BACKLASH ERROR= 2.7
0.14 — , , 0.14 — , ,
0.12 gaussian 1,2 0.12 gaussian 1,2
0.1 o 0.1
0.08 £ 008
0.06 / ’\\ S 006 74 F\\
0.04 ,/ \\ % 0.04 // \\
0.02 / N 0.02 / S
0 0
-60 40 -20 0O 20 40 60 -60 40 -20 0O 20 40 60

overlay scanl,2(offset arcmin)

overlay scanl,2(offset arcmin)

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

gain-amp

gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

LR I L L B LA L B L LN B B
source .
gaussian 1 7
e N
/‘ N\
J(Z’ \\\\\
v A
/ \
-60 -40 -20 O 20 40 60

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

S I L N B DL LN N B B I B
source .
gaussian 2 7
1/ \I.
-60 -40 -20 O 20 40 60
<<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 0.4’
T T T T
gaussian 1,2
/N
/ N
-60 -40 -20 0 20 40 60

C02-130-EL OFF= -0.7" (45.0))

gain-amp

>>> scanl (offset arcmin) >>>

C02-130-EL OFF= -0.3' (44.6))

gain-amp

gain-amp

overlay scanl,2(offset arcmin)

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

AL I L L B LA L I L LN B B
source .
gaussian 1 7
s
/4 \\}‘
A \
7 A
/ N\
_/ ¥
-60 -40 -20 0O 20 40 60

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06
TT T T " 11"

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

C02-175-EL OFF= -1.2' (45.5)

>>> scanl (offset arcmin) >>>

C02-175-EL OFF= -0.7' (44.8)

source
gaussian 2

TN

/1N

/

\

/

o

N

-40

20 O

20 40 60

<<< scan2 (offset arcmin) <<<

BACKLASH ERROR=

0.5’

] ] |
gaussian 1,2

o

/ I\

£ 1\

\

/

\

/

N

-40 -20 O

20 40 60

overlay scanl,2(offset arcmin)

(+30'/m) 25jul2016 10:03:00

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

C03-130-EL OFF= -4.6’ (44.5)

014 P11 T T
source .
0.12 gaussian 1 7
0.1
0.08 —
0.06 - \\\
0.04 y 4 LY
/{7 \\ ° .
0.02 /;/ X :
\ 4
O ’/ w
-60 -40 -20 O 20 40 60

>>> scanl (offset arcmin) >>>

C03-130-EL OFF= -4.7" (45.8)

gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

C03-175-EL OFF= -4.6’ (44.5)

014 P11 T T
source .
0.12 gaussian 1 7
0.1
0.08
0.06 /’\“x
/ AN
0.04 / X
S %
0.02 7 X
60 -40 -20 0O 20 40 60

>>> scanl (offset arcmin) >>>

C03-175-EL OFF= -4.5" (44.3)

(+30'/m) 25jul2016 10:03:00

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06 10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

gain-amp

gain-amp

014 T 1T T T T T 014 1T 1T T T T T T
source ° source °
0.12 gaussian 2 7 0.12 gaussian 2 7
0.1 0.1
Q.
0.08 £ 0.08
0.06 AR £ 0.06 7
AN\ 5 AN
0.04 0.04
. / \ L) / ‘\
0.02 [/ \ - 0.02 v \
0 = \F 0 o \Q-_
60 -40 20 0 20 40 60 60 -40 20 0 20 40 60
<<< scan2 (offset arcmin) <<< <<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 0.1’ BACKLASH ERROR= 0.1’
014 T .| 1 2| ] 014 | .| 1 2| |
0.12 gaussian 1, 0.12 gaussian 1,
0.1 0.1
Q.
0.08 £ 0.08
0.06 / \\ £ 006 i \\
/ < /
0.04 / N 0.04 / \
0.02 1 A\ 0.02 17 \
0 0
60 -40 20 0 20 40 60 60 -40 20 0 20 40 60

overlay scanl,2(offset arcmin)

overlay scanl,2(offset arcmin)

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

C04-130-EL OFF= 0.6’ (44.5)

LI LI N (LU DL I NNLIN NI N L
source °

gaussian 1

7™

/
§
g

4

SN

-40

20 O

20 40 60

>>> scanl (offset arcmin) >>>

gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

C04-175-EL OFF= 0.9’ (44.2)

AL I L L B LA L I L LN B B
source .
gaussian 1 7
TN
7 Y
4 N
A TN
_ N
40 -20 0 20 40 60

>>> scanl (offset arcmin) >>>

(+30'/m) 25jul2016 10:03:00

C04-130-EL OFF= 1.7’ (44.6)) C04-175-EL OFF= 1.8’ (45.1")

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06 10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

gain-amp

gain-amp

014 T 1T T T T 014 1T 1T T T T T T
source ° source °
0.12 gaussian 2 7 0.12 gaussian 2 7
0.1 _ o1
0.08 £ 0.08
TN\ <
0.06 S 0.06
N\ o 7T\
0.04 0.04 r4 \
0.02 \ 0.02 / AN
0 --/ \M 0
60 40 -20 0 20 40 60 60 40 -20 0 20 40 60
<<< scan2 (offset arcmin) <<< <<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 1.1’ BACKLASH ERROR= 0.9’
0.12 gaussian 1, 0.12 gaussian 1,
0.1 _ 01
0.08 £ 0.08
7T\ p
0.06 \ S 006
\ © T\
0.04 0.04 7 N
0.02 \ 0.02 / A\
. \ . \
0 0
60 40 -20 0 20 40 60 60 40 -20 0 20 40 60

overlay scanl,2(offset arcmin)

overlay scanl,2(offset arcmin)

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

C05-130-EL OFF= -3.2' (44.4)

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

C05-175-EL OFF= -3.0" (44.2))

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

(+30'/m) 25jul2016 10:03:00

014 P11 T T 014 P11 T T
source  ° source ¢
0.12 gaussian 1 7 0.12 gaussian 1 7
0.1 o 0.1
0.08 —- £ 0.08 _
FainN ¢ LY
0.06 e 5 0.06 1N
. 4 \ % . r \
0.04 y \ 0.04 a N
/ N / \
0.02 /’ g 0.02 /’ N .
0 2 . 0 == \‘a
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60

>>> scanl (offset arcmin) >>> >>> scanl (offset arcmin) >>>

C05-130-EL OFF= -3.4'(44.1) C05-175-EL OFF= -3.2' (44.0))

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06 10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

gain-amp

gain-amp

014 T 1T T T T T 014 1T 1T T T T T T
source source
0.12 gaussian 2 7 0.12 gaussian 2 7
0.1 0.1
3
0.08 A~ ; 0.08 A~
0.06 / £ 0.06 7
11\ 5 A1\
0.04 0.04
0.02 f/ \ 0.02 // \
0 ke’ \_ 0 .-g/ \-‘.-
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60
<<< scan2 (offset arcmin) <<< <<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 0.2 BACKLASH ERROR= 0.2
0.12 gaussian 1, 0.12 gaussian 1,
0.1 0.1
3
0.08 N ; 0.08 N
0.06 7 £ 0.06 7
A 1\ 5 A1\
0.04 / \\ 0.04 / \\
0.02 V4 0.02 V4
0 0
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60

overlay scanl,2(offset arcmin)

overlay scanl,2(offset arcmin)

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

C06-130-EL OFF= 2.1’ (43.9)

gain-amp

LI ) I T I T I I LI I LI I I T I T I I LI )
source  °
gaus|5|an 1 7]
[
T
r‘ \:‘
4 N
)4
7 )
4 Y
-40 -20 0 20 40 60

>>> scanl (offset arcmin) >>>

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

C06-175-EL OFF= 2.0’ (44.0)

LI ) I T I T I I LI I LI I I T I T I I LI )
source .
gaussian 1 7
TN\
4 hY
//’l L\
d*" ‘t\ °
4 %
4 A
-40 -20 0 20 40 60

>>> scanl (offset arcmin) >>>

(+30'/m) 25jul2016 10:03:00

C06-130-EL OFF= 2.0’ (45.8) C06-175-EL OFF= 1.7°' (44.5)

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06 10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

gain-amp

gain-amp

014 T 1T T T T 014 1T 1T T T T T T
source  ° source
0.12 gaussian 2 7 0.12 gaussian 2 7
0.1 | . o1
ey £
0.08 E  0.08 /"\
7 i \
0.06 7 4 § 006 /
0.04 /j 4 7 oo0s / \\
0.02 |- \5 0.02 |-+ N
0 0
-60 -40 -20 O 20 40 60 -60 -40 -20 O 20 40 60
<<< scan2 (offset arcmin) <<< <<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 0.1 BACKLASH ERROR= 0.3
0.12 gaussian 1, 0.12 gaussian 1,
0.1 o 0.1
0.08 VAR E  0.08 /TN
/ : / 1\
0.06 / S 006 /
0.04 // \ = 0.04 // \\
0.02 N 0.02 N
/ /
0 0
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60

overlay scanl,2(offset arcmin)

overlay scanl,2(offset arcmin)

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

C08-130-EL OFF= -4.1' (43.9)

LR I L L B LA L B L LN B B
source .
gaussian 1 7
/‘&\
4 \\

/

/ N
40 -20 0 20 40 60

>>> scanl (offset arcmin) >>>

C08-130-EL OFF= -3.6" (44.0))

gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

C08-175-EL OFF= -3.9' (44.0))

LI ) I T I T I I LI I LI I I T I T I I LI )
source °
gaussian 1 7
V""\\
r/ Ay
41 ‘\\
/7/ A
7 %
),'?' %‘
/ \-’*
-40 -20 0 20 40 60

>>> scanl (offset arcmin) >>>

C08-175-EL OFF= -3.3' (44.6))

(+30'/m) 25jul2016 10:03:00

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06 10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

gain-amp

gain-amp

014 T 1T T T T T 014 1T 1T T T T T T
source ¢ source ¢
0.12 gaussian 2 7 0.12 gaussian 2 7
0.1 o 0.1
£
0.08 /n\ ; 0.08 \
0.06 / S 0.06 ;
(@)
0.02 7 0.02 / .
0 ke e 0 = S
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60
<<< scan2 (offset arcmin) <<< <<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 0.5 BACKLASH ERROR= 0.6’
0.12 gaussian 1, 0.12 gaussian 1,
0.1 0.1
£ N
0.08 £ 0.08
/N : \
0.06 / \ S 006
(@]
0.04 // \\ 0.04 /
0.02 7 0.02 %
0 0
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60

overlay scanl,2(offset arcmin)

overlay scanl,2(offset arcmin)

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

C09-130-EL OFF= 1.1’ (46.2) C09-175-EL OFF= 1.6’ (45.4)
10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05 10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05
04 11T T T T T T 04 1T T T T T T T
source . source .
0.12 gaussian 1 7 0.12 gaussian 1 7
0.1 0.1
o
0.08 £ 0.08
PERA < SRR,
0.06 / \\\ ] g 0.06 // \\
0.04 % S 0.04 o Nt
4 R o ®
0.02 //// N 0.02 //// A
P \ ® P \a °
0 == —— 0 == —
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60

(+30'/m) 25jul2016 10:03:00

>>> scanl (offset arcmin) >>> >>> scanl (offset arcmin) >>>

C09-130-EL OFF= 1.3'(49.6") C09-175-EL OFF= 2.0’ (44.9)

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06 10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

gain-amp

gain-amp

014 T 1T T T T 014 1T 1T T T T T T
source ° source °
0.12 gaussian 2 7 0.12 gaussian 2 7
0.1 0.1
o
0.08 | % 0.08
0.06 = = 0.06 /ﬁ\
° ° (@)]
0.04 | 0.04 /, \
0.02 "o 0.02
N -
0 - 0 & \';'
60 -40 20 0 20 40 60 60 -40 20 0 20 40 60
<<< scan2 (offset arcmin) <<< <<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 0.2’ BACKLASH ERROR= 0.4’
014 T .| 1 2| ] 014 | .| 1 2| |
0.12 gaussian 1, 0.12 gaussian 1,
0.1 0.1
Q.
0.08 £ 0.08
0.06 = 0.06 AN
(@]
0.04 // \ 0.04 /,/ \
0.02 V4 N 0.02 N
0 0
60 -40 20 0 20 40 60 60 -40 20 0 20 40 60

overlay scanl,2(offset arcmin)

overlay scanl,2(offset arcmin)

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

C10-130-EL OFF=

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

1.7 (45.1)

014 T T T T T
source .
0.12 gauslsian 1 7
0.1 /- \,\\
0.08 ‘,
0.06 B
/) “‘
0.04 7 Y
0.02 £ A\
O »j M
60 -40 -20 0O 20 40 60

>>> scanl (offset arcmin) >>>

C10-130-EL OFF= 4.0’ (45.0)

gain-amp

C10-175-EL OFF=

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

1.3 (45.3)

014 P11 T T
source ¢
0.12 galj;ﬁ.i.an 1 -
0.1 AR 8
P d %
0.08 f L1
¢ 3
0.06 ; *\.‘
0.04 ,,,'," R
F A\
0.02 ,
-60 40 -20 O 20 40 60

>>> scanl (offset arcmin) >>>

C10-175-EL OFF= 3.4’ (45.0)

(+30'/m) 25jul2016 10:03:00

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06 10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

gain-amp

gain-amp

014 T 1T T T T 014 1T 1T T T T T T
source  ° source
0.12 gaussian 2 7 0.12 gaussian 2 7
0.1 o 0.1 /-
0.08 \ E o008
/1% i /
0.06 7 S 0.06
F, \ < 7 \
0.04 / 0.04 /
0.02 -+ \N. 0.02 \!
' 4 ° A
0 0 L=
-60 -40 -20 O 20 40 60 -60 -40 -20 O 20 40 60
<<< scan2 (offset arcmin) <<< <<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 2.3 BACKLASH ERROR= 2.1’
0.12 gaussian 1, 0.12 gaussian 1,
0.1 N 0.1 7™\
\ : /
0.08 \ E  0.08
/ 1\ £ /1N
0.06 / S 006 /
/i \ = / \
0.04 / \ 0.04 / \
0.02 0.02
4 J
0 0
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60

overlay scanl,2(offset arcmin)

overlay scanl,2(offset arcmin)

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

gain-amp

gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05
IIIIIIIIIIIIIIIIIII

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06
LN LI N LI L I

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

source .
gaussian 2 7
/N
4 .
.:‘ / )
-60 -40 -20 O 20 40 60
<<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 1.4
T T T T
gaussian 1,2
/N
4
/ \\
-60 -40 -20 0 20 40 60

C11-130-EL OFF= 6.2 (46.8)

gain-amp

source .
gaussian 1 7
/TN
4 [ o
/TN
r : A\
V4 N .
7 P
-40 -20 0 20 40 60

>>> scanl (offset arcmin) >>>

C11-130-EL OFF= 7.6’ (47.6))

gain-amp

gain-amp

overlay scanl,2(offset arcmin)

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

AL I L L B LA L I L LN B B
source .
gaussian 1 7
//’"\.
7 .
& X
y LY
7 A\
y4 \\
» 7 N
—— Qe
60 40 -20 O 20 40 60

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06
LN LI N LI L I

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

C11-175-EL OFF= 5.6’ (45.8)

>>> scanl (offset arcmin) >>>

C11-175-EL OFF= 6.8 (45.6))

source

gaussian 2

/

/

N

-40

-20 0 20 40 60

<<< scan2 (offset arcmin) <<<

BACKLASH ERROR= 1.2’
T T T T
gaussian 1,2
//
/
/ \\
-60 -40 -20 O 20 40 60

overlay scanl,2(offset arcmin)

(+30'/m) 25jul2016 10:03:00

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

C12-130-EL OFF=

1.8’ (44.6))

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

C12-175-EL OFF= 2.2'(44.8)

014 T T T T T 014 P11 T T
source . source .
0.12 gaussian 1 7 0.12 gaussian 1 7
0.1 0.1
e £ 008
0.08 71N . —
g \ © \
£ 1N ;i /T
0.06 4 - 5 0.06 7 N
-ﬂ ‘\ o ,;55/ .'\
0.04 7 A‘f\ 0.04 f \\
0.02 / h 0.02 / 5\
. /,‘// : / e o
O "../ o \_‘ O o \‘-‘
-60 -40 -20 O 20 40 60 -60 -40 -20 0O 20 40 60

>>> scanl (offset arcmin) >>> >>> scanl (offset arcmin) >>>

C12-130-EL OFF= 1.8 (44.5) C12-175-EL OFF= 2.3'(44.8)

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06 10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

(+30'/m) 25jul2016 10:03:00

gain-amp

gain-amp

014 T 1T T T T 014 1T 1T T T T T T
source source
0.12 gaussian 2 7 0.12 gaussian 2 7
0.1 0.1
3
0.08 E 008
/T j TN\
0.06 / S 006 \
(@)
0.04 / \ 0.04 \\
0.02 0.02
* * %o
0 0
-60 -40 -20 O 20 40 60 -60 -40 -20 O 20 40 60
<<< scan2 (offset arcmin) <<< <<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 0.0’ BACKLASH ERROR= 0.1
0.12 gaussian 1, 0.12 gaussian 1,
0.1 o 0.1
0.08 N E 008
0.06 // \ = 0.06 / —\\
(@]
0.04 / \\ 0.04 \\
0.02 V4 N 0.02 N
0 0
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60

overlay scanl,2(offset arcmin)

overlay scanl,2(offset arcmin)

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

C13-130-EL OFF= -1.6"(44.8)

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

C13-175-EL OFF= -0.0" (44.3)

014 P11 T T 014 P11 T T
source . source .
0.12 gaussian 1 7 0.12 gaussian 1 7
0.1 0.1
o
0.08 £ 0.08
0.06 = 0.06
P © T,
0.04 74 AN 0.04 7 TN
pd N /) N

0.02 V4 N 0.02 — N

O J——— ‘.‘: O = ’ s 2.

-60 -40 -20 0O 20 40 60 -60 -40 -20 0O 20 40 60

>>> scanl (offset arcmin) >>> >>> scanl (offset arcmin) >>>

C13-130-EL OFF= -0.7' (44.7) C13-175-EL OFF= 0.7’ (44.1")

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06 10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

(+30'/m) 25jul2016 10:03:00

gain-amp

gain-amp

014 T 1T T T T T 014 1T 1T T T T T T
source ° source °
0.12 gaussian 2 7 0.12 gaussian 2 7
0.1 0.1
o
0.08 % 0.08
0.06 = 0.06
(@)]
0.04 /f '\\ 0.04 /"\
0.02 [ / AN 0.02 / A
0 \& 0 ) \-ﬁ:
60 40 -20 0 20 40 60 60 40 -20 0 20 40 60
<<< scan2 (offset arcmin) <<< <<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 0.9’ BACKLASH ERROR= 0.7’
0.12 gaussian 1, 0.12 gaussian 1,
0.1 0.1
3
0.08 5 0.08
0.06 = 0.06
(@]
0.04 // \\ 0.04 // BN
0.02 / A 0.02 / N
0 0
60 40 -20 0 20 40 60 60 40 -20 0 20 40 60

overlay scanl,2(offset arcmin)

overlay scanl,2(offset arcmin)

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

gain-amp

gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

C14-130-EL OFF= -4.1' (44.3)

LR I L L B LA L B L LN B B
source .
gaussian 1 7
/T
i D,
‘/
Vd \\
/ \
A N
40 -20 0 20 40 60

>>> scanl (offset arcmin) >>>

C14-130-EL OFF= -1.7' (44.7))

S I L N B DL LN N B B I B
source .
gaussian 2 7
e
.Q/ \-
-60 -40 -20 O 20 40 60
<<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 2.4’
T T T T
gaussian 1,2
/7
4
-60 -40 -20 0 20 40 60

overlay scanl,2(offset arcmin)

gain-amp

gain-amp

gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

C14-175-EL OFF= -3.5" (44.3)

014 P11 T T
source .
0.12 gaussian 1 7
0.1
0.08 —
//,/m‘\\
0.06 7 \
0.04 ,:” N
/ %\
0.02 7 \ :
7 \
O ./ ° 0%
-60 -40 -20 0O 20 40 60

>>> scanl (offset arcmin) >>>

C14-175-EL OFF= -1.0" (45.2)

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

014 T 1T T 1T T
source .
0.12 gaussian 2 7
0.1
0.08
0.06 //
0.04 /’ -
0.02 -
Se
0 &.// :
-60 -40 -20 0O 20 40 60
<<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 2.5
0.14 , . 12, ,
0.12 gaussian 1,
0.1
0.08
0.06 // \\
0.04 //
0.02 7 N
0
-60 -40 -20 O 20 40 60

overlay scanl,2(offset arcmin)

(+30'/m) 25jul2016 10:03:00

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

EO02-130-EL OFF= 0.4’ (46.0)

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

EO02-175-EL OFF= 0.7’ (45.8)

014 T T T T T 014 P11 T T
source . source .
0.12 gaussian 1 7 0.12 gaussian 1 7
0.1 . o1 #Lk
0.08 TN, E 008 VAR
/N : A
I’ ” ‘
006 ‘,” 5 g 006 ;, X
I Y £ A
0.04 y. . 0.04 a \
/ \ 7/ kY
0.02 7 \ 0.02 /‘ \
0 A 7\, . 0 —_ \.,_
-60 -40 -20 0O 20 40 60 -60 -40 -20 0O 20 40 60

>>> scanl (offset arcmin) >>>

>>> scanl (offset arcmin) >>>

(+30'/m) 25jul2016 10:03:00

EO02-130-EL OFF= 1.2’ (45.3) EO02-175-EL OFF= 1.4’ (45.1)

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06 10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

gain-amp

gain-amp

014 T 1T T T T 014 1T 1T T T T T T
source ¢ source ¢
0.12 gauslsian 2 7 0.12 gauslsian 2 7
0.1 0.1
o
0.08 /A E 008 //.\
0.06 = 0.06
0.04 / \ 0.04 / \
0.02 7 0.02 /
0 e’ & 0 =y K
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60
<<< scan2 (offset arcmin) <<< <<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 0.8 BACKLASH ERROR= 0.7
014 T .| 1 2| ] 014 | .| 1 2| |
0.12 gaussian 1, 0.12 gaussian 1,
0.1 0.1
/T\ 2 /T
0.08 7T\ E  0.08 7
0.06 = 0.06
/ \ 5 /
0.04 / \ 0.04 / \
0.02 S 0.02 N
/ /
0 0
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60

overlay scanl,2(offset arcmin)

overlay scanl,2(offset arcmin)

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

gain-amp

gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

EO03-130-EL OFF= 0.2’ (44.5)

gain-amp

AL I L L B LA L B L LN B B
source .
gaussian 1 7
/1N
& ‘
/// N
40 -20 0 20 40 60

>>> scanl (offset arcmin) >>>

EO03-130-EL OFF= 0.5’ (44.4)

gain-amp

gain-amp

S I L I I DL LN N B DL I B
source .
gaussian 2 7
40 -20 0 20 40 60
<<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 0.3’
T T T T
gaussian 1,2
// \\
N
-40 -20 0 20 40 60

overlay scanl,2(offset arcmin)

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

EO03-175-EL OFF= -0.5" (44.1)

AL I L L B LA L I L LN B B
source .
gaussian 1 7
VARN
rd N
/ N
p— / \& _
40 -20 0 20 40 60

>>> scanl (offset arcmin) >>>

EO03-175-EL OFF= -0.1' (44.2))

AL B L B DL N I B B B B
source .
gaussian 2 7
/’A\\
40 -20 0 20 40 60
<<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 0.4’
T T T T
gaussian 1,2
y N\
/ N\
-40 -20 0 20 40 60

overlay scanl,2(offset arcmin)

(+30'/m) 25jul2016 10:03:00

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

gain-amp

gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

EO04-130-EL OFF= 0.7’ (44.0)

014 T T T T T
source .
0.12 gaussian 1 7
0.1
0.08 e
7N
0.06 - v
J n

0.04 /,/” ;\
0.02

O —// ‘&.

60 -40 -20 O 20 40 6

>>> scanl (offset arcmin) >>>

E04-130-EL OFF=

1.8’ (43.5)

gain-amp

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

014 T T T T T T
0.12 gaussian 2 ——
0.1
0.08 /-A\
0.06 \
/ \
0.02 . \
0 A
-60 -40 -20 0O 20 40 60
<<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 1.7
0.14 T T I I
0.12 gaussian 1,2
0.1
0.08 TN
0.06 // \\
0.04 \
0.02 / \\
0
-60 -40 -20 0 20 40 60

overlay scanl,2(offset arcmin)

gain-amp

gain-amp

E04-175-EL OFF=

1.0 (44.3)

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

014 P11 T T
source °
0.12 gaussian 1 7
0.1
SN
0.08 Vsl N
c’,’{{/ \‘\\
0.06 f s
d »
0.04 7 A8
0.02 / \
oLt A
-60 40 -20 O 20 40 60

>>> scanl (offset arcmin) >>>

EO04-175-EL OFF= 2.1’ (44.0)

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

014 1T 1T T T T T T

T B
0.1

0.08 /TN

0.06 /

ooa .

0.02 -‘// \x.

O-60 -40 -20 0 20 40 60

<<< scan2 (offset arcmin) <<<

BACKLASH ERROR= 1.1’
0.12 gaussian 1,
0.1
0.08 // [\
0.06 1 Y
0.04 /' \
0.02
7 N
0
60 -40 20 O 20 40 60

overlay scanl,2(offset arcmin)

(+30'/m) 25jul2016 10:03:00

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

E05-130-EL OFF=

1.9' (41.7))

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

E05-175-EL OFF=

1.9' (42.3)

014 T T T T T 014 P11 T T
source ° source °
0.12 gaussian 1 7 0.12 gaussian 1 7
0.1 0.1
o
0.08 E o008 -
0.06 - £ 006 /’ N
/’\ o /// \“‘\
0.04 7 g 0.04 7 \
0.02 //‘/ \\ 0.02 /’é \
0 Lz e 0 L .
60 40 -20 0 20 40 60 60 -40 -20 0 20 40 60

>>> scanl (offset arcmin) >>>

E05-130-EL OFF=

2.2 (42.1))

>>> scanl (offset arcmin) >>>

E05-175-EL OFF=

2.5 (42.6")

(+30'/m) 25jul2016 10:03:00

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06 10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

gain-amp

gain-amp

014 T 1T T T T 014 1T 1T T T T T T
source ° source °
0.12 gaussian 2 7 0.12 gaussian 2 7
0.1 0.1
o
0.08 £ 0.08
0.06 ~ £ 006 // ™
(@)
0.04 // \ 0.04 4 \
0.02 / \ 0.02 /
60 -40 -20 0 20 40 60 60 -40 -20 0 20 40 60
<<< scan2 (offset arcmin) <<< <<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 0.3’ BACKLASH ERROR= 0.6’
0.12 gaussian 1, 0.12 gaussian 1,
0.1 0.1
Q.
0.08 £ 0.08
0.06 £ 006 // _\\
(@]
0.04 // -\\ 0.04 7 \
0.02 / 0.02
N
0 0
60 -40 20 0 20 40 60 60 -40 20 0 20 40 60

overlay scanl,2(offset arcmin)

overlay scanl,2(offset arcmin)

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

EO06-130-EL OFF= 3.3 (45.1)

LI ) I T I T I I LI I LI I I T I T I I LI )
source .
gauslsian 1 7
,7/" \\«\.
’4 %
pi \}
/" ‘\‘?‘\‘q‘\\
P4
. \hh
-40 -20 0 20 40 60

>>> scanl (offset arcmin) >>>

EO06-130-EL OFF= 2.9’ (45.1)

gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

EO06-175-EL OFF= 4.0’ (43.9)

LI ) I T I T I I LI I LI I I T I T I I LI )
source .
gaussian 1 7
/1N
": \‘\’\
yd 3
A M
40 -20 0 20 40 60

>>>

scanl (offset arcmin) >>>

EO06-175-EL OFF= 2.9’ (45.1)

(+30'/m) 25jul2016 10:03:00

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06 10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

gain-amp

gain-amp

014 T 1T T T T 014 1T 1T T T T T T
source source
0.12 gauslsian 2 7 0.12 gaussian 2 7
0.1 0.1 /)~
TN\ 2 N\
0.08 E 008 \
/N i /X
0.06 / ’\ g 006 /
0.04 /! \ 2 004 /-'4 \\
0.02 0.02 -_A/
0 ' B 0 ' —
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60
<<< scan2 (offset arcmin) <<< <<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 0.4’ BACKLASH ERROR= 1.1
0.12 gaussian 1, 0.12 gaussian 1,
0.1 0.1
/T\ 2 \
0.08 \ E 008 \
/ \ I= / \
0.06 / S 006 7
/ \ = / \
0.04 / \ 0.04 / \
0.02 N 0.02 \
/ /
0 0
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60

overlay scanl,2(offset arcmin)

overlay scanl,2(offset arcmin)

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

gain-amp

gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

S01-130-EL OFF= 3.2’ (44.6’)

LI ) I T I T I I LI I LI I I T I T I I LI )
source .
gaussian 1 7]
lf; ;ﬂ“‘\
Kd 2
rd
r:'// \*\
v A
— N\._.
-40 20 0O 20 40 60

>>> scanl (offset arcmin) >>>

S01-130-EL OFF= 3.6’ (44.3)

S I L I I DL LN N B DL I B
source .
gaussian 2 7
:M/ \g
-60 -40 -20 O 20 40 60
<<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 0.4’
T T T T
gaussian 1,2
2N
N
-60 -40 -20 0 20 40 60

overlay scanl,2(offset arcmin)

gain-amp

gain-amp

gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

S01-175-EL OFF= 3.5’ (44.5)

LI ) I T I T I I LI I LI I I T I T I I LI )
source °
gaussian 1 7
l"’“ | \\‘\\
I )
4 \\\
/ \
a AN
'// A
— // \&
-40 -20 0 20 40 60

>>> scanl (offset arcmin) >>>

S01-175-EL OFF= 3.3’ (44.9)

LI LA B L D I I D O
source °

gaussian 2

7N

AR

7

_/

-40

h A

-20 0 20 40 60

<<< scan2 (offset arcmin) <<<

BACKLASH ERROR=

0.2

] ] | ]
gaussian 1,2

7T\

/1 N\

/| \

N

-40 -20 O

20 40 60

overlay scanl,2(offset arcmin)

(+30'/m) 25jul2016 10:03:00

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

gain-amp

gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

S02-130-EL OFF= -5.1' (44.2))

014 T T T T T
source .
0.12 gaussian 1 7
0.1
0.08 y aata
4 ;\
0.06 // \'
0.04 7 X
' 7 N
0.02 Va Sy
0 / -~ o
-60 -40 -20 0O 20 40 60

>>> scanl (offset arcmin) >>>

S02-130-EL OFF= -0.2' (44.0")

gain-amp

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

0.14

S I L I I DL LN N B DL I B
source .
0.12 gaussian 2 7
0.1
0.08 r\
0.06 /
£\
0.04 / \
0.02 /
0 =S
-60 -40 -20 O 20 40 60
<<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 4.9’
0.12 gaussian 1,
0.1
0.08 N
0.06 // \\
/ \
0.04 / \
0.02 4 \N
0
-60 -40 -20 0 20 40 60

overlay scanl,2(offset arcmin)

gain-amp

gain-amp

S02-175-EL OFF= -4.9' (44.2))

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

014 P11 T T
source .
0.12 gaussian 1 7
0.1

0.08 fi\;\
0.06 2 \

V4 -

7 %
004 P N

g >,
0.02 4 L
P
60 40 -20 O 20 40 60

>>> scanl (offset arcmin) >>>

S02-175-EL OFF= -0.1' (44.0")

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

0.14

S I L N I DL LN N B DL I B
source .
0.12 gaussian 2 7
0.1
0.08
0.06 {/‘5\
0.04 /! \
0.02
-60 -40 -20 0O 20 40 60
<<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 4.8’
0.12 gaussian 1,
0.1
0.08
0.06 // \\
0.04 // \\
0.02
/4 \\
0
-60 -40 -20 O 20 40 60

overlay scanl,2(offset arcmin)

(+30'/m) 25jul2016 10:03:00

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

S03-130-EL OFF= 3.0’ (45.9)

AL I N L B LD B O A B N B
source .
gaussian 1 7
/’//_A\\
Fd N
'{/
l(" \\‘
7 A
/ \
4 N
40 -20 0 20 40 60

>>> scanl (offset arcmin) >>>

S03-130-EL OFF= 3.1’ (45.6’)

gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

S03-175-EL OFF= 2.5’ (45.9)

AL I L L B LA L I L LN B B
source .
gaussian 1 7
21N
l‘#‘ ?\\
~
e, \h-
40 -20 0 20 40 60

>>> scanl (offset arcmin) >>>

S03-175-EL OFF= 2.6’ (45.7’)

(+30'/m) 25jul2016 10:03:00

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06 10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

gain-amp

gain-amp

014 T 1T T T T 014 1T 1T T T T T T
source ¢ source ¢
0.12 gaussian 2 7 0.12 gaussian 2 7
0.1 0.1
o
0.08 /,A % 0.08
0.06 = 0.06
0.04 / 5 0.04 /
0.02 \\ 0.02 / \
0 N 0 N
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60
<<< scan2 (offset arcmin) <<< <<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 0.1’ BACKLASH ERROR= 0.1’
0.12 gaussian 1, 0.12 gaussian 1,
0.1 0.1
TN\ g- TN\
0.08 / g 0.08 / \
0.06 £ 006 \
/ \ S / \
0.04 \ 0.04 / \
0.02 N 0.02 S
/ /
0 0
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60

overlay scanl,2(offset arcmin)

overlay scanl,2(offset arcmin)

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

gain-amp

gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

S04-130-EL OFF= -0.4’ (44.7")

gain-amp

AL I L L B LA L B L LN B B
source .
gaussian 1 7
TN
V4 A
prd NG
-40 -20 0 20 40 60

>>> scanl (offset arcmin) >>>

S04-130-EL OFF= 0.9’ (44.0)

gain-amp

gain-amp

S I L I I DL LN N B DL I B
source .
gaussian 2 7
/ \
40 -20 0 20 40 60
<<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 1.3
T T T T
gaussian 1,2
/] \\
N
-40 -20 0 20 40 60

overlay scanl,2(offset arcmin)

S04-175-EL OFF= -0.1' (44.3))

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

AL I L L B LA L I L LN B B
source .
gaussian 1 7
Z S
V4N
/ AN
f/ N
40 -20 0 20 40 60

>>> scanl (offset arcmin) >>>

S04-175-EL OFF=

1.1 (43.9)

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

-60

S I L N I DL LN N B DL I B
source .
gaussian 2 7
/f
40 -20 0 20 40 60
<<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 1.2
T T T T
gaussian 1,2
/ N
/ AN
N
-40 -20 0 20 40 60

overlay scanl,2(offset arcmin)

(+30'/m) 25jul2016 10:03:00

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

S06-130-EL OFF= -1.0’ (45.9))

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

S06-175-EL OFF= -1.6’ (45.8)

014 T T T T T 014 P11 T T
source . source .
0.12 gaussian 1 7 0.12 gaussian 1 7
0.1 0.1
3 ER
0.08 2 0.08 Y g
p @ AN

//‘\\\‘\\ é ,/ \“\
0.06 7 % S 0.06 4 »
0.04 A A Y 2 0.04 / i
0.02 7 A S 0.02 "4 3

60 -40 -20 O 20 40 6 60 -40 -20 0O 20 40 60

>>> scanl (offset arcmin) >>>

S06-130-EL OFF= 0.6’ (45.4’)

>>> scanl (offset arcmin) >>>

S06-175-EL OFF= -0.1' (45.4")

(+30'/m) 25jul2016 10:03:00

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06 10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

gain-amp

gain-amp

014 T 1T T T T 014 1T 1T T T T T T
source source
0.12 gaussian 2 7 0.12 gaussian 2 7
0.1 0.1
3
0.08 N ; 0.08 /0‘\
0.06 = 0.06
\ 3 T\
\ /
0.04 \ 0.04 / \
0.02 / 0.02 7
A = \& 0 L \.
-60 -40 -20 O 20 40 60 -60 -40 -20 O 20 40 60
<<< scan2 (offset arcmin) <<< <<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 1.6’ BACKLASH ERROR= 1.5
014 T .| 1 2| ] 014 | .| 1 2| |
0.12 gaussian 1, 0.12 gaussian 1,
0.1 0.1
Q.
0.08 7N\ E 008 /’\\
0.06 = 0.06
/ \ < / \\
0.04 / \\ 0.04 / \
0.02 0.02
/ N 74 N
0 0
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60

overlay scanl,2(offset arcmin)

overlay scanl,2(offset arcmin)

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

WO01-130-EL OFF= 0.4’ (43.5)

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

WO01-175-EL OFF= 0.5’ (43.2))

014 T T T T T 014 P11 T T
source ¢ source ¢
0.12 gaussian 1 7 0.12 gauslsian 1 7
0.1 0.1 -
7 R =2 /// }\
0.08 TN E 008 ;{/ k¥
g A\‘ l ’;7 %
0.06 i N 5 0.06 ¥ 3
¢ % © Vi %
0 . 04 /9 % 0 . 04 /; f:\
0.02 //' A 0.02 // 3
0 = ’ ¥ 0 - \ﬁ
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60

>>> scanl (offset arcmin) >>>

WO01-130-EL OFF= 2.9’ (44.9)

>>> scanl (offset arcmin) >>>

WO01-175-EL OFF= 3.0’ (44.7")

(+30'/m) 25jul2016 10:03:00

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06 10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

gain-amp

gain-amp

014 T 1T T T T 014 1T 1T T T T T T
source source
0.12 gaussian 2 7 0.12 gaussian 2 7
0.1 o 0.1
0.08 /A £ 0.08 /
0.06 7 = 0.06 7 \
] < 7
0.04 / \ 0.04 / \
0.02 0.02
0 N 0 N
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60
<<< scan2 (offset arcmin) <<< <<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 2.5 BACKLASH ERROR= 2.5
0.12 gaussian 1, 0.12 gaussian 1,
0.1 0.1
VAR 2 VAR
0.08 E  0.08 \
/ = / \
0.06 / S 006 /
0.04 / \ 004 / \\
0.02 N 0.02 N
/ /
0 0
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60

overlay scanl,2(offset arcmin)

overlay scanl,2(offset arcmin)

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

WO02-130-EL OFF=

1.4 (44.1))

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

WO02-175-EL OFF=

1.6' (44.0")

014 T T T T T 014 P11 T T
source . source .
0.12 gaussian 1 7 0.12 gaussian 1 7
0.1 0.1
3
0.08 i 0.08 S
,f/ N g //.\‘\t\
0.06 rd N < 0.06 - S
4 i = / i
0.04 # A Y 0.04 y \\
0.02 / A 0.02 / A
' o/ ' /
0 = \~ - 0 L= \ﬁ
-60 -40 -20 0O 20 40 60 -60 -40 -20 0O 20 40 60

>>> scanl (offset arcmin) >>>

W02-130-EL OFF=

2.0 (44.3)

>>> scanl (offset arcmin) >>>

WO02-175-EL OFF=

2.0' (44.2))

(+30'/m) 25jul2016 10:03:00

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06 10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

gain-amp

gain-amp

014 T 1T T T T 014 1T 1T T T T T T
source source
0.12 gaussian 2 7 0.12 gaussian 2 7
0.1 0.1
Q.
0.08 /\ % 0.08 et
0.06 N = 0.06
\ 5 \
0.04 \ 0.04 \
0.02 \ 0.02 \
0 0
-60 -40 -20 O 20 40 60 -60 -40 -20 O 20 40 60
<<< scan2 (offset arcmin) <<< <<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 0.6’ BACKLASH ERROR= 0.4’
0.12 gaussian 1, 0.12 gaussian 1,
0.1 0.1
£
0.08 E  0.08
VAR £ 7T\
0.06 \ S 006 \
(@]
0.04 \\ 0.04 / \\
0.02 AN 0.02 N
0 0
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60

overlay scanl,2(offset arcmin)

overlay scanl,2(offset arcmin)

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

WO03-130-EL OFF= 0.4’ (43.8)

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

WO03-175-EL OFF=

1.2 (43.4)

014 T T T T T 014 P11 T T
source ° source °
0.12 gaussian 1 7 0.12 gaussian 1 7
0.1 0.1
3
0.08 7T 5 008 /‘“\1\
0.06 F—— £ 0.06 v a ‘Y\‘
J'/l ‘\ o /‘A .'
0.04 / \ 0.04 7 \
V4 AN 7 \‘

0.02 S 0.02 / \

0 L= N 0 L= .

-60 40 -20 0 20 40 60 -60 40 -20 0 20 40 60

>>> scanl (offset arcmin) >>>

WO03-130-EL OFF= 2.5’ (43.9))

>>> scanl (offset arcmin) >>>

WO03-175-EL OFF= 3.3 (43.5)

(+30'/m) 25jul2016 10:03:00

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06 10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

gain-amp

gain-amp

014 T 1T T T T 014 1T 1T T T T T T
source ° source °
0.12 gaussian 2 7 0.12 gaussian 2 7
0.1 0.1
o
0.08 /\ % 0.08 /,u\
0.06 \ = 0.06 \
(@)]
0.04 / \ 0.04 \
0.02 0.02
0 oS 0 N
60 -40 -20 0 20 40 60 60 -40 -20 0 20 40 60
<<< scan2 (offset arcmin) <<< <<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 2.1’ BACKLASH ERROR= 2.1’
0.12 gaussian 1, 0.12 gaussian 1,
0.1 0.1
3
0.08 5 008 \
0.06 \ = 0.06 \
\ 5 / 1 N\
0.04 / \ 0.04 Y, \
0.02 N 0.02 N
0 0
60 -40 -20 0 20 40 60 60 -40 -20 O 20 40 60

overlay scanl,2(offset arcmin)

overlay scanl,2(offset arcmin)

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

WO04-130-EL OFF= 4.7’ (43.8) WO04-175-EL OFF= 3.4’ (44.4)
10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05 10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05
014 T T T T T 014 P11 T T
source . source .
0.12 gaussian 1 7 0.12 gaussian 1 7
0.1 0.1
o
0.08 £ 0.08
0.06 /;ﬂ'“*.", £ 006 /,4'""*‘.".
X o ’ .
0.04 ; X 0.04 - %
& \‘\\ / *‘0\‘
0.02 // . 0.02 //
O et k O g \\_
-60 -40 -20 0O 20 40 60 -60 -40 -20 0O 20 40 60

(+30'/m) 25jul2016 10:03:00

>>> scanl (offset arcmin) >>> >>> scanl (offset arcmin) >>>

WO04-130-EL OFF= 2.6’ (44.0") WO04-175-EL OFF= 1.6’ (44.0")

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06 10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

gain-amp

gain-amp

014 T 1T T T T 014 1T 1T T T T T T
source ¢ source ¢
0.12 gaussian 2 7 0.12 gaussian 2 7
0.1 0.1
o
0.08 /a\ % 0.08 /A\
0.06 3 006 \
0.04 \\ 2 004 /‘/ \\
0.02 0.02
0 | — 0 l —
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60
<<< scan2 (offset arcmin) <<< <<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 2.1 BACKLASH ERROR= 1.8
0.12 gaussian 1, 0.12 gaussian 1,
0.1 0.1
Q.
0.08 TN % 0.08 AN\
/AN i /AN
0.06 \ S 006 7 \
(@]
0.04 \\ 0.04 /‘ \\
0.02 N 0.02 / AN
0 0
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60

overlay scanl,2(offset arcmin)

overlay scanl,2(offset arcmin)

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

014 T T T T T 014 P11 T T
source . source .
0.12 gaussian 1 7 0.12 gaussian 1 7
0.1 0.1
; 3
0.08 7 0.08 A
7//‘!\\\\ ¢ 2N
0.06 J,f N < 0.06 P2 N
yd \ [@)] ,,f ‘\‘
0.04 7 ',\ 0.04 7 ;
0.02 /" AN 0.02 v | \
0 ) \\— — 0 —
-60 -40 -20 0O 20 40 60 -60 -40 -20 0O 20 40 60

WO05-130-EL OFF= -2.1' (43.4’)

>>> scanl (offset arcmin) >>>

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

WO05-175-EL OFF= -1.7" (43.2)

>>> scanl (offset arcmin) >>>

(+30'/m) 25jul2016 10:03:00

WO05-130-EL OFF= 1.6’ (44.0") WO05-175-EL OFF= 2.0’ (43.9)

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06 10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

gain-amp

gain-amp

014 T 1T T T T 014 1T 1T T T T T T
source ¢ source ¢
0.12 gaussian 2 7 0.12 gaussian 2 7
0.1 o 0.1
0.08 £ 0.08
/TN z /TN
0.06 7 \ S 006 \
(@)
0.04 7 \ 0.04 / \
0.02 \ 0.02 N\
0 0
-60 -40 -20 O 20 40 60 -60 -40 -20 O 20 40 60
<<< scan2 (offset arcmin) <<< <<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 3.7 BACKLASH ERROR= 3.7
0.12 gaussian 1, 0.12 gaussian 1,
0.1 o 0.1
0.08 2 £ 0.08
7 1\ ;
0.06 7 \ S 006 \
(@]
0.04 7 \\ 0.04 \\
0.02 0.02
4 N \\
0 0
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60

overlay scanl,2(offset arcmin)

overlay scanl,2(offset arcmin)

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

WO06-130-EL OFF= 3.7’ (43.8)

AL I L L B LA L B L LN B B
source .
gaussian 1 7
///’;’\\
/ ‘\
/
/ A
-60 -40 -20 O 20 40 60

>>> scanl (offset arcmin) >>>

WO06-130-EL OFF= 3.6’ (44.2))

gain-amp

10:01 10:01 10:02 10:02 10:03 10:03 10:04 10:04 10:05

0.14
0.12
0.1
0.08
0.06
0.04
0.02
0

WO06-175-EL OFF= 3.7’ (43.9))

LI ) I T I T I I LI I LI I I T I T I I LI )
source .
gaussian 1 7
AN
l/ \t\\
7 1
/ %
g %
/ \
_ / \h
-60 -40 -20 0O 20 40 60

>>> scanl (offset arcmin) >>>

WO06-175-EL OFF= 3.6’ (44.3)

(+30'/m) 25jul2016 10:03:00

10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06 10:10 10:09 10:09 10:08 10:08 10:07 10:07 10:06 10:06

gain-amp

gain-amp

014 T 1T T T T 014 1T 1T T T T T T
source ¢ source ¢
0.12 gaussian 2 7 0.12 gaussian 2 7
0.1 0.1
£ Py
0.08 £ 0.08 /
0.06 = 0.06 \
(@)
0.04 / \ 0.04 / \
0.02 N\ 0.02 \
0 0
-60 -40 -20 O 20 40 60 -60 -40 -20 O 20 40 60
<<< scan2 (offset arcmin) <<< <<< scan2 (offset arcmin) <<<
BACKLASH ERROR= 0.1 BACKLASH ERROR= 0.1
0.12 gaussian 1, 0.12 gaussian 1,
0.1 o 0.1
— = /T\
0.08 / \ 2 0.08 /
0.06 \ S 006
(@]
0.04 / \ 0.04 \
0.02 S 0.02 N
0 0
-60 40 -20 O 20 40 60 -60 40 -20 O 20 40 60

overlay scanl,2(offset arcmin)

overlay scanl,2(offset arcmin)

(-30'/m) 25jul2016 10:08:00

(591 MHz.)



# backl ash test : 25jul 2016 10: 03: 00, 25jul 2016 10:08: 00

#1ta file : /gsbifrdata/25jul /test_snk_24jul 2016.1ta

# Ita scan no(s) : 0,1

# lta chan range : [150, 160]

# scanl start tinme: 25Jul 2016 10: 01: 00

# scanl peak tine: 25jul 2016 10: 03: 00

# scanl end time: 25Jul 2016 10: 05: 00

# scan2 start tine: 25Jul 2016 10: 06: 00

# scan2 peak tine: 25jul 2016 10:08:00

# scan2 end time: 25Jul 2016 10:10: 00

# scanl rate/speed: 30"/ m

# scan2 rate/speed: -30'/m

# Xrange posn [-60":60"]

# yrange gain-anmp : [0:0.14]

# frequeny (MHz) : 591

# axis EL

# el evation(deg) 34.7

# antenna fl ag 1 - working, 0 - non working

C00-130-EL OFF(scanl)= -10.3 OFF(scan2)= -9.4 ERROR= 0.9 FLAG=
C00-175-EL OFF(scanl)= -9.8 OFF(scan2)= -8.9 ERROR= 0.9 FLAG=
C01-130-EL OFF(scanl)= 1.0 OFF(scan2)= 3.8 ERROR= 2.8 FLAG=
C01- 175-EL OFF(scanl) = 1.7 OFF(scan2) = 4.4 ERROR= 2.7 FLAG=
002-130-EL OFF(scanl)= -0.7 OFF(scan2)= -0.3 ERROR= 0.4 FLAG=
C02-175-EL OFF(scanl)= -1.2 OFF(scan2)= -0.7 ERROR= 0.5 FLAG=
C03-130-EL OFF(scanl)= -4.6 OFF(scan2)= -4.7 ERROR= 0.1 FLAG=
C03-175-EL OFF(scanl)= -4.6 OFF(scan2)= -4.5 ERROR= 0.1 FLAG=
C04-130-EL OFF(scanl)= 0.6 OFF(scan2)= 1.7 ERROR= 1.1 FLAG=
C04- 175- EL OFF(scanl) = 0.9 OFF(scan2) = 1.8 ERROR= 0.9 FLAG=
005- 130- EL OFF(scanl)= -3.2 OFF(scan2)= -3.4 ERROR= 0.2 FLAG=
C05-175-EL OFF(scanl)= -3.0 OFF(scan2)= -3.2 ERROR= 0.2 FLAG=
C06-130-EL OFF(scanl)= 2.1 OFF(scan2)= 2.0 ERROR= 0.1 FLAG=
C06-175-EL OFF(scanl)= 2.0 OFF(scan2)= 1.7 ERROR= 0.3 FLAG=
C08-130-EL OFF(scanl)= -4.1 OFF(scan2)= -3.6 ERROR= 0.5 FLAG=
C08- 175-EL OFF(scanl)= -3.9 OFF(scan2)= -3.3 ERROR= 0.6 FLAG=
009- 130- EL OFF(scanl)= 1.1 OFF(scan2)= 1.3 ERROR= 0.2 FLAG=
C09- 175- EL OFF(scanl) = 1.6 OFF(scan2) = 2.0 ERROR= 0.4 FLAG=
C10-130-EL OFF(scanl)= 1.7 OFF(scan2)= 4.0 ERROR= 2.3 FLAG=
Cl10-175-EL OFF(scanl)= 1.3 OFF(scan2)= 3.4 ERROR= 2.1 FLAG=
Cl11-130-EL OFF(scanl)= 6.2 OFF(scan2)= 7.6 ERROR= 1.4 FLAG=
Cl1-175-EL OFF(scanl) = 5.6 OFF(scan2) = 6.8 ERROR= 1.2 FLAG=
C12-130- EL OFF(scanl)= 1.8 OFF(scan2) = 1.8 ERROR= 0.0 FLAG=
Cl12-175-EL OFF(scanl)= 2.2 OFF(scan2)= 2.3 ERROR= 0.1 FLAG=
C13-130-EL OFF(scanl)= -1.6 OFF(scan2)= -0.7 ERROR= 0.9 FLAG=
C13-175-EL OFF(scanl)= -0.0 OFF(scan2)= 0.7 ERROR= 0.7 FLAG=
Cl14-130-EL OFF(scanl)= -4.1 OFF(scan2)= -1.7 ERROR= 2.4 FLAG=
Cl4-175-EL OFF(scanl)= -3.5 OFF(scan2)= -1.0 ERROR= 2.5 FLAG=
E02- 130- EL OFF(scanl)= 0.4 OFF(scan2) = 1.2 ERROR= 0.8 FLAG=
EO2-175- EL OFF(scanl)= 0.7 OFF(scan2)= 1.4 ERROR= 0.7 FLAG=
E03- 130- EL OFF(scanl)= 0.2 OFF(scan2)= 0.5 ERROR= 0.3 FLAG=
E03- 175-EL OFF(scanl)= -0.5 OFF(scan2)= -0.1 ERROR= 0.4 FLAG=
EO4- 130- EL OFF(scanl)= 0.7 OFF(scan2)= 1.8 ERROR= 1.1 FLAG=
E04- 175- EL OFF(scanl) = 1.0 OFF(scan2) = 2.1 ERROR= 1.1 FLAG
E05- 130- EL OFF(scanil)= 1.9 OFF(scan2) = 2.2 ERROR= 0.3 FLAG=
EO5-175- EL OFF(scanl)= 1.9 OFF(scan2)= 2.5 ERROR= 0.6 FLAG=
E06- 130- EL OFF(scanl)= 3.3 OFF(scan2)= 2.9 ERROR= 0.4 FLAG=
E06- 175- EL OFF(scanl)= 4.0 OFF(scan2)= 2.9 ERROR= 1.1 FLAG=
S01-130-EL OFF(scanl)= 3.2 OFF(scan2)= 3.6 ERROR= 0.4 FLAG=
S01-175-EL OFF(scanl) = 3.5 OFF(scan2) = 3.3 ERROR= 0.2 FLAG=
S02-130- EL OFF(scanl)= -5.1 OFF(scan2)= -0.2 ERROR= 4.9 FLAG=
S02-175-EL OFF(scanl)= -4.9 OFF(scan2)= -0.1 ERROR= 4.8 FLAG=
S03-130-EL OFF(scanl)= 3.0 OFF(scan2)= 3.1 ERROR= 0.1 FLAG=
S03-175-EL OFF(scanl)= 2.5 OFF(scan2)= 2.6 ERROR= 0.1 FLAG=
S04-130-EL OFF(scanl)= -0.4 OFF(scan2)= 0.9 ERROR= 1.3 FLAG=
S04- 175-EL OFF(scanl)= -0.1 OFF(scan2) = 1.1 ERROR= 1.2 FLAG=
S06- 130- EL OFF(scanl)= -1.0 OFF(scan2)= 0.6 ERROR= 1.6 FLAG=
S06- 175- EL OFF(scanl)= -1.6 OFF(scan2)= -0.1 ERROR= 1.5 FLAG=

PRRPRRRPRRPRPRPRPRRPRPRPRPRPRRPRPRPRPRRPRPRPRPRPRRPREPRPRRPRPREPRPRLRRPRPRPRRRPEPREPRERRRRERRERRER



W1-130-EL
W)1-175- EL
WD2- 130- EL
WD2-175- EL
W3- 130- EL
W3- 175- EL
W4-130- EL
W)4- 175- EL
WD5- 130- EL
WD5-175- EL
WD6- 130- EL
WD6-175- EL

OFF(scanl) =
OFF(scanl) =
OFF(scanl) =
OFF(scanl) =
OFF(scanl) =
OFF(scanl) =
OFF(scanl) =
OFF(scanl) =
OFF(scanl) =
OFF(scanl) =
OFF(scanl) =
OFF(scanl) =

WwkhhNWwrRPORRPROO

N~N~NREk,rbhANNDORMOS

OFF(scan2) =
OFF(scan2) =
OFF(scan2) =
OFF(scan2) =
OFF(scan2) =
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